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Integral Calculus - Quiz #4

Multiple Choice

Identify the choice that best completes the statement or answers the question.

A 1. Set up the definite integral that gives the area of the region bounded by the graph of y; = x2+2x+1and
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A 2. Find the area of the region bounded by the graphs of the algebraic functions.
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A 4. Set up and evaluate the integral that gives the volume of the solid formed by revolving the region bounded by
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A 5. Find the volume of the solid generated by revolving the region bounded by the graphs of the equations
y=2x*,y=0, and x = 2 about the line x = 2.
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D 6. Find the volume of the solid generated by revolving the region bounded by the graphs of the equations about
the line y = 8.
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C 7. Find the volume of the solid generated by revolving the region bounded by the graphs of the equations about
the line y = 2.
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8. Find the volume of the solid generated by revolving the region bounded by the graphs of the equations about

the x-axis.
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C_ 9. Findthearc length of the graph of the function y = % + Elx_ over the interval [1,2].
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| ) 10. Find the area of the surface generated by revolving the curve about the x-axis.
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